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(A) 100000Hz
(B) 100000rad/s

(C) 1000Hz
(D) 1000rad/s
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v(t)=1104/2sin(wt) (V) pF > f2 in ﬂzﬁﬁ%ﬁgl?ﬁm&u(t),

(A) i(t)=2.2V2sin(wt) (A)
(B) i(t)=2.2v2sin(wt+45°) (A)
(C) i(t)=2.2v2sin(wt—36.9°) (A)
(D) i(t)=0.846v2sin(wt) (A)
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(A) 0.25
(B) 0.56
(C) 0.65
(D)1
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/,4<t<5
(A) 0.8V
(B) 1.6V
(C) 2.53V
(D) 4V
% A - B RLC T 8 - # ¢ % B & i 4 7 ¢ v(t)=11042sin(wt+30°) (V) ,
i(t) =242 cos(wt —30°)(A) » # 5 F#(PF) 5 i ?

(A) 0.866 (&)
(B) 0.866 (3% 1)
(C) 0.5 (Az )
(D) 0.5 (% 1)
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(A) V, xe R kg
(B) V, x[l-e ™| mp
C) V,xe™O x4

(D) V,x[t-e ™0 uu
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(A) (V, -V, )xe ) LV, ki

(B) (Vs _Vo)x(l_e_t/(RC))'i'VO R
(C) V,xeFI v, ik

(D) V, x(1—eF )4V, ik
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3 |V, =325V ~V,=3V + V, =275V -

P.... =200+ 600+400=1200W ~ Q= \/1000% — 600% —+/500 — 400% = 500Var
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